1

3.

4.

Expressions (10 points)
Expression

1+2*3-4¢%5
5/ 2+90/ 20-2*1.25
29 %2 %5 + 34 %3

8 +6* -2+ 4 +"0" + (2+5)
31/ 2/ 10.0 + 10 / (5 / 2.0)

Parameter Mystery (20 points)

drew saw the felt
sue felt the saw
sue drew the b

b sue the a

drew felt the felt

While Loop Simulation (15 points)

Method Cdll
nystery(42, 0);
nystery(6, 12);
nystery(18, 27);
nystery(24, 60);
nystery(50, 15);

Assertions (15 points)

CSE 142, Winter 2007
Midterm Exam Key

Output

42

12 6 6

27 18 9 9

60 36 24 12 12
50 35 20 15 10 5 5

X > 2 X <n n %x == 0
Point A NEVER SOMETI MES | SOVETI MES
Point B SOVETI MES | ALWAYS SOVETI MES
Point C NEVER SOMETI MES | SOVETI MES
Point D | ALVWAYS SOVETI MES | SOVETI MES
Point E SOMETI MES | NEVER SOVETI MES
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5. Programming (15 points) -- five solutions shown

public static bool ean enoughTi neFor Lunch(
int hl, int ml, int h2, int n2) {
if (hl1 > h2) {
return fal se;
} else if (hl == h2) {
return n2 - nil >= 45;
} elseif (hl == h2 - 1) {
return 60 + n2 - ml >= 45;
} else {
return true;

public static bool ean enoughTi neFor Lunch(int hl,

if (hl1 > h2) {
return fal se;

} else if (hl == h2) { /'l same hour
I must be >= 45 min apart

if (ml + 45 <= n2) {
return true;

} else {
return false;

}
} else if (h2 == hl + 1)
if (ml - 15 <= nR) {
return true;
} else {
return false;

} else {
return true;

}

public static bool ean enoughTi neFor Lunch(int hl, i
hli +

if ((hl1 ==h2 & m. + 45 <= nR) || (h2
return true;

} else {
return fal se;

}

public static bool ean enoughTi meFor Lunch2(i nt
return 60 * hl + nl + 45 <= 60 * h2 + ng,

public static bool ean enoughTi meFor Lunch(
int hl, int ml, int h2, int n2) {
if (h2 > hl + 1) {
return true;
} else if (h2 == hl & nl + 45 <= nm2) {
return true;

} elseif (h2 == hl + 1 & nl - 15 <= n2) {

return true;
} else {
return fal se;

}
int m, int h2, int m2) {

{ /1 hl is just before h2
I must be >= -15 min apart

/1l time 1 is > 1 hour before tine 2

n , int h2, int nR)

t ml {
1 & il - 15 <= n2) || (hl < h2 - 1)) {

hl, int m, int h2, int nR) {
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6. Programming (15 points) -- three solutions shown
public static void printGid(int rows, int cols) {
for (int i =1; i <=rows; i++) {
Systemout.print(i);
for (int j =1; j <=cols - 1; j++) {

Systemout.print(", " + (i +rows * j));
}
Systemout.println();
}
}
public static void printGid(int rows, int cols) {
for (int i =1; i <=rows; i++) {
for (int j =0; j <cols - 1; j++) {
Systemout.print((i + rows * j) + ", ");
}
Systemout.println(i + rows * (cols - 1));
}
}
public static void printGid(int rows, int cols) {
int n =1;
int countl = 1;
int count2 = 1;
while (countl <= rows * cols) {
if (countl %cols == 0) {
System out. println(n);
count 2++;
n = count2;
} else {
Systemout.print(n + ", ");
n=n+ rows;
}
count 1++;
}
}
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7. Programming (10 points) -- three solutions shown

public static void favoritelLetter(Scanner console, String letter)
Systemout. println("Looking for two \"" + letter + "V" words in a row. ");
int count = O;
Syst em out . pr|nt("TYpe a word: ");
String word = consol e next () ;
whil e (count <
if (word. startsVVth(Ietter)) {
count ++;
} else {
count = 0;

}
System out.print("Type a word: ");
word = consol e. next(?

}
Systemout.println("\ + letter + "\" is for \"" + word + "\"");

}

/] uses two Strings instead of count, and uses forever/break | oo
public static voi fav0r|teLetter(Scanner console, String letter
Systemout. println(’ Look|ng for two \"" + letter + "V" words in a row. ");
System out . pr|nt( e a wrd: ");
String wordl = conso e.next();
Systenlout pr|nt("TyPe a mnrd ");

String word2 = consol e. next (
whil e ('imnrdl ggartsVVth(letter) && word2.startsWth(letter))) {
wor

Systenlout pr|nt( Type a word: ");
word2 = consol e. next () ;

%ysten1out.print|n("\"" + letter + "\" is for \"" + word2 + "\"");

}

/] uses do/while

| oo
public static void
[

p

favoritelLetter(Scanner console, String letter) {
System out . pB ntln (' ooking for two \"" + letter + "\" words in a row.");
int count =

String word;
do

Systemout print("Type a word: ");
word = consol e. next F
if (word.startsWth etter)) {
count ++;
} else {
count = 0;

} mh?le (count < 2);

System out . pr|ntln("\"" + letter + "\" is for \"" + word + "\"");
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